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({:lass Building

public int floors; // P&
public int height; // & &

public void showBuildin f%
System.out.println(floors+"p#");
System.out.printIn("/& X : "+he1ght+"m"
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class Mansion extends Building

public int families; // {44k

public void showMansion({
showBuilding();
System.out.println("t#7% : "+families);

}
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class Assignment6_1

public static void main(String[] args){
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Mansion mymansion=new Mansion();
mymansion.floors=10;
mymansion.height=20;
mymansion.families=50;
mymansion.showMansion();
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f{:lass Objects
public String name; I 7Y =27 NO4HI
public doublel] size; I A g, B BAT(mm)
public double weight; Il EX(g)
public ObjectsO{
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name="No name";

size=new double[3];

for(int i=0si<size.lengthsi++)
sizeli]=0.0;

weight=0.0;

}
public Objects(String n, doublell s, double w){

}
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name=n;

size=s;

weight=w;

public void show(1{
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System.out.println("Name:"+name);
System.out.println("size:H"+size[0]+", W"+size[1]+", D"+size[2]+"(mm)");
System.out.println("Weight:"+weight+"(g)")
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A —/x—7 T A Gadget

AN HEA, (Sting) . flifs (int)

A Y R : Gadget(String, int); 2> A FF 27 % (54 &Alikk DR E)
void show(); 7 —# F£/r (B4 LA OFER)

%727 7 A Mp3Player
BINA LN 258 MB (int)
IBINA Y~ K : Mp3Player(String, int, int);
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void print();
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#7275 A CellPhone
BINA N FS (String)
BN A Y > K : CellPhone(String, int, Sting);
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void print();
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Private A>3 int fiscal_balance=0; // HRIN AL HE AT 2 (K H/NT o ADBRFH)
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Public % 3 void showFiscalBalance(;// RN AL H AT o 2% H ) (BT 2575 2)
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Private A >/
int income; // XA
int spent; /| XH
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Public A >3
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void setData(int, int);// 5 H DAL ZHIZHG 2z bn=T—% %+~ F LT,
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void showBalance(; // 4 H DWA L ZHONT 2% HT) (BF2 R ?)
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